G20d Trigonometry with right-angled triangles
in 3D Shapes © BossMaths

Alpha Exercise 1

Answer the following correct to the nearest 0.1°
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(a) Find the angle between JQ and the plane OPQR.
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(b) Find the angle between JQ and the plane JKLM.
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(c) Find the angle between JQ and the plane JMNO.
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Alpha Exercise 2 [

Answer the following correct to the nearest 0.1°
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(a) Findthe angle between SV and the plane RSTU.
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(b) Find the angle between SV and the plane STYX. "
3 oLt (2
> /NSY = kan ( m)
6 o
3 , = 54.6

\\
(c) Find the angle between SV and the plane VWXY.
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E Beta Exercise

B A
(@) Find the length AH, correct .
to the nearest 0.1 cm. C D
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(b) Find the length SV, correct !
to the nearest 0.1 cm. i
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(c) Findthe length TW, correct to the nearest 0.1 cm.
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Gamma Exercise 1

Find the angle between each diagonal and the shaded plane
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n Gamma Exercise 2

Here is a triangular prism.
The triangular faces are equilateral triangles.

(a) Find the length TX
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(b) M is the mid-point of UV. Find the length MT.
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(c) Find the angle between TX and the plane UVXY.
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w Explain the mistake
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Molly writes:
The angle between CH and the plane GHIT is 42°, and the angle between CH and the plane
CJGF ig 48e.

Molly has made a mistake. |dentify the mistake and correct it.
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Exam-style question

This pyramid has a square base of length
60 m. The length from a corner of the base to the top of the pyramid is 91 m.

Find the angle between AB and the plane BCDE.
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